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QUESTION 1

-- Exhibit 

-- Exhibit -Refer to the exhibits. 

An LTM Specialist configures a virtual server for an internal application to perform client-side encryption while allowing
the server-side traffic to be unencrypted. Application users report that images are NOT loading through the virtual
server; 

however, images load when going directly to the server. 

What should the LTM Specialist configure to allow the images to load through the virtual server? 
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A. HTTP profile with "SSL Offload" enabled 

B. HTTP profile with "SSL Offload" disabled 

C. Stream profile with source "http:" and target "https:" 

D. Stream profile with target "http:" and source "https:" 

Correct Answer: C 

 

QUESTION 2

-- Exhibit 
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-- Exhibit -Refer to the exhibit. 

An LTM Specialist is reviewing the virtual server configuration on an LTM device. 

Which two actions should the LTM Specialist perform to minimize the virtual server configuration? (Choose two.) 

A. Remove \\'snat automap\\' from the virtual server. 

B. Remove the \\'http\\' profile from the virtual server. 

C. Remove the \\'default_class\\' from the virtual server. 

D. Combine \\'acct_class\\' and \\'marketing_class\\' into one class and update associations on the virtual server. 

E. Combine \\'marketing_class\\' and \\'default_class\\' into one class and update associations on the virtual server. 
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Correct Answer: CD 

 

QUESTION 3

-- Exhibit 

-- Exhibit -Refer to the exhibits. 

Users are able to access the application when connecting directly to the web server but are unsuccessful when
connecting to the virtual server. 

What is the cause of the application access problem? 

A. The virtual server has SNAT disabled. 

B. The client has no route to the web server. 

C. The virtual server has address translation disabled. 

D. The web server is NOT responding on the correct port. 

E. The virtual server is NOT configured to listen on port 80. 

Correct Answer: C 

 

QUESTION 4

-- Exhibit 
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-- Exhibit -Refer to the exhibit. 

A server administrator notices that one server is intermittently NOT being sent any HTTP requests. The server logs
display no issues. The LTM Specialist notices log entries stating the node (172.16.20.1) status cycling between down
and up. 

The pool associated with the virtual server (10.10.1.100) has a custom HTTP monitor applied. Which tcpdump filter will
help trace the monitor? 

A. tcpdump -i internal port 80 and host 172.16.1.31 

B. tcpdump -i external port 80 and host 10.10.1.100 
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C. tcpdump -i internal port 80 and host 172.16.1.33 

D. tcpdump -i external port 80 and host 172.16.20.1 

Correct Answer: A 

 

QUESTION 5

An LTM device pair is configured for failover and connection mirroring. The LTM devices are configured with virtual
servers for HTTP, HTTPS with SSL offload, and SSH. An event occurs that causes a failover. HTTP and SSH sessions
active at the time of failover remain active, but HTTPS sessions are dropped. 

What is the root cause of this problem? 

A. The SSL certificates on the LTM devices do NOT match. 

B. Connection mirroring is incompatible with clientssl profiles. 

C. SNAT automap was NOT enabled for the HTTPS virtual servers. 

D. Connection mirroring was NOT enabled for the HTTPS virtual servers. 

Correct Answer: B 

 

QUESTION 6

-- Exhibit 
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-- Exhibit -Refer to the exhibit. 

A user is unable to access an application. 

What is the root cause of the problem? 

A. The User-Agent is incorrect. 

B. The \\'Content-Length\\' is zero. 

C. The user failed authentication. 

D. The GET request uses the wrong syntax. 

Correct Answer: C 

 

QUESTION 7

-- Exhibit 
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-- Exhibit -Refer to the exhibits. 

An LTM Specialist is troubleshooting an application configured on an LTM device on a one- armed configuration. The
application is NOT working through the LTM device but does work when accessed directly via the application servers.
The 

virtual server 192.168.1.211:443 is configured to SNAT using the address 192.168.1.144 and references a pool with the
member 192.168.10.80:443. No Client or Server SSL profiles are associated. The LTM Specialist has collected two
traffic 

captures to help determine the issue. 

What is the problem with the configuration on the LTM device? 

A. Pool member is configured to use wrong port. 

B. Pool member is configured for SSL off-loading. 

C. Virtual server is configured to use wrong port. 

D. Virtual server is configured without SSL Profiles. 

Correct Answer: A 

 

QUESTION 8

An LTM Specialist with the Administrator role and terminal access of "tmsh" logs in via ssh and is in the Traffic Manager
Shell. The LTM Specialist wants to enter the bash shell to review log files. Which command does the LTM Specialist
need to run to access the bash shell? 
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A. exit 

B. quit 

C. run /cli bash 

D. run /util bash 

Correct Answer: D 

 

QUESTION 9

An LTM Specialist configured a virtual server to load balance a custom application. The application works when it is
tested from within the firewall but it fails when tested externally. The pool member address is 192.168.200.10:80. A
capture from an external client shows: 

GET /index.jsp HTTP/1.1 Host: 207.206.201.100 User-Agent: Mozilla/5.0 (Windows NT 6.1; WOW64; rv:15.0)
Gecko/20100101 Firefox/15.0.1 Accept: text/html,application/xhtml+xml,application/xml;q=0.9,*/*;q=0.8 Connection:
keep-alive HTTP/1.1 302 Found DatE. Wed, 17 Oct 2012 23:09:55 GMT Server: Apache/2.2.15 (CentOS) Location:
http://192.168.200.10/user/home.jsp Content-LengtH. 304 Connection: close 

What is the solution to this issue? 

A. Assign a SNAT pool to the virtual server. 

B. Add a Web Acceleration Profile to the virtual server. 

C. Configure redirect rewrite option in the HTTP profile. 

D. Configure a content filter on the backend web server. 

Correct Answer: C 

 

QUESTION 10

An LTM Specialist is setting up a monitor for an HTTP 1.1 server. The response to a GET / is: 

HTTP/1.1 302 Moved Temporarily Location: http://www.example.com/new/location.html Which send string settings
should the LTM Specialist use to force a proper response? 

A. GET / HTTP/1.0\r\nHost: host.domain.com\r\nConnection: Close\r\n\r\n 

B. GET /new/location.html HTTP/1.1\r\nHost: www.example.com\r\nConnection: Close\r\n\r\n 

C. GET / HTTP/1.1\r\nHost: www.example.com/new/location.html\r\nConnection: Close\r\n\r\n 

D. GET /new/location.html HTTP/1.1\r\nHost: host.domain.com/new/locations.html\r\nConnection: Close\r\n\r\n 

Correct Answer: B 
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QUESTION 11

-- Exhibit -- Exhibit -

Refer to the exhibit. 

Users receive an error when attempting to connect to the website https://website.com. The website has a DNS record of
195.56.67.90. The upstream ISP has confirmed that there is nothing wrong with the routing between the user and the 

LTM device. 

The following tcpdump outputs have been captured: 

External Vlan, filtered on IP 168.210.232.5 

00:25:07.598519 IP 168.210.232.5.33159 > 195.56.67.90.https: S 1920647964:1920647964(0) win 8192  
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00:25:07.598537 IP 195.56.67.90.https > 168.210.232.5.33159: S 2690691360:2690691360(0) ack 1920647965 win
4350  

00:25:07.598851 IP 168.210.232.5.33160 > 195.56.67.90.https: S 2763858764:2763858764(0) win 8192  

00:25:07.598858 IP 195.56.67.90.https > 168.210.232.5.33160: S 1905576176:1905576176(0) ack 2763858765 win
4350  

Internal Vlan, filtered on IP 168.210.232.5 

00:31:46.171124 IP 168.210.232.5.33202 > 192.168.100.20.http: S 2389057240:2389057240(0) win 4380  

What is the problem? 

A. The filters on the tcpdumps are incorrect. 

B. The DNS entry for website.com is incorrect. 

C. The virtual server \\'WEBSERVICES1\\' is listening on the incorrect port. 

D. The firewall is dropping the connection coming from the pool members returned to the client. 

E. The subnet masks of the pool members of pool WebServices1 and the f5 \\'Internal\\' Vlan are incorrect. 

Correct Answer: D 

 

QUESTION 12

An LTM Specialist realizes that a datacenter engineer has changed the console baud rate. Which command determines
the current baud rate via the command line interface? 

A. tmsh show /ltm console 

B. tmsh show /sys console 

C. tmsh list /sys baud-rate 

D. tmsh list /net baud-rate 

Correct Answer: B 

 

QUESTION 13

The active LTM device in a high-availability (HA) pair performs a failover at the same time the network team reports an
outage of a switch on the network. Which two items could have caused the failover event? (Choose two.) 

A. a VLAN fail-safe setting 

B. a monitor on a pool in an HA group 

C. the standby LTM that was rebooted 
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D. an Auditor role that has access to the GUI 

E. the standby LTM that lost connectivity on the failover VLAN 

Correct Answer: AB 

 

QUESTION 14

-- Exhibit 

-- Exhibit -Refer to the exhibit. 

Which step should an LTM Specialist take next to finish upgrading to HD1.3? 

A. Install image to HD1.3 

B. Install hotfix to HD1.3 

C. Activate HD1.3 

D. Relicense HD1.3 

Correct Answer: C 

 

QUESTION 15

A web application is meant to log the URI of the resource that responded to the client\\'s initial Request-URI. Which
HTTP header will supply this information? 

A. Via 

B. Server 

C. Trailer 

D. Referer 

Correct Answer: D 
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